HERT ENEEARRRARRER  2017/6/25 ZEHT7—FU—15

IEGL | K4 il 70m 70m =11 10 X
1[I RERKZE 319 321 640 20 0
2| KFE—# FEHRE 309 314 623 18 3
|fREER FEHMKEBE 309 308 617 16 5
41 BEHEF NN 306 305 611 12 4
41 BRANE KR K= 304 304 608 10 2
6| R EEFI A =R 286 292 578 13 2

BREXF

G | K4 il 70m 70m =11 10 X
|E#EAE BEELKE 302 309 611 15
2|BK & fipN=a 277 302 579 10 4

LERF

G | K4 il 70m 70m =11 10 X
1| E1&H Z=RZHE 310 318 628 14 3
2|IR 5 =R¥HE 292 301 593 11 3
3| AFTHEREL Z=RZHE 301 285 586 11 4
4| BXH ZRER 278 283 561 10 4
5|ILUAEE Z=RZHE 266 286 552 5 1
6|5 IRE1Z =R¥HE 272 260 532 4 0

LELF

6L | K4 il 70m 70m =11 10 X
1|FEFIE5h  |[REREKR 273 292 565 8 0
2R”RTTF= ZRER 266 272 538 6
3| & Z=RZHE 257 227 484 5 0




